Correction notes from Period 1
(Period 3's Correction notes
start on page 5)
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Rational Numbers and Exponents
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6. Rafael is burning a CD for Selma. The CD will hold 35 minutes of music. Which

'n'The cubes at the right are each numbered 1 through 6. During a game,

10.

15

Use a strategy to solve each prohlen'I/ bgﬂn
5. E3 7371 Aball bounces back O.g’of its height on every bounce. If a ball is

— 200) :0-}1{206\) = 24

ent{Practice)

200( 0.6 *5) » 209(%) = (L,00
200(0.6) = |20
/20 (0.6)° T

??.. (’a_[p):- o432

s2(06)* 259
jf ﬁ's): /5.5‘{

dropped from 200 feet, how high does it bounce on the fifth bounce? Round to
the nearest tenth. (Eample 1)

songs should he select from the list to record the maximum time on the CD without 5 1?5.(6-
going over? (Example ) A2
£+
Song A B C D E /5'5
Time S5minds 9min10s 4min12s Imin9s 3 mind4s
5’) L
F G H | ] %
e aoo (06 ;
Time 4 min30s S5min0s Tmin2ls 4min33s 5min 585 ‘

both are rolled and the faces landing up are added. How many ways can
a person playing the game roll a sum less than 87 (fxample3)

. To catch a 7:30 a.w. bus, Don needs 30 minutes to shower and dress,
15 minutes for breakfast, and 10 minutes to walk to the bus stop. To
catch the bus, what is his latest possible wake-up time? (Example4)

. Financial Literacy Mr. and Mrs. Delgado each own an equal number of shares

of a stock. Mr. Delgado sells one-third of his shares for $2700. What was the total
value of Mr. and Mrs. Delgado’s stock before the sale?

The three counters shown in the table are used for a board game. If. et Side1 Side2
the counters are tossed, how many ways can at least one counter with
Side A occur? Counter 1 A B
Counter2 | A C
. Odell has the same number of quarters, dimes, and nickels. In all he s | B | C

has $4 in change. How many of each coin does he have? :
o
X
—— o sor BuYiNe THE
F.;-B BeEoreE By Book-
COMNLEFT

. A certain number is multiplied by 3, and then 5 is added to the result.
The final answer is 41. What is the number?

. Lawanda put $15 of her paycheck into her savings account. Then she spent

one-half of what was left on clothes. She paid $24 for a concert ticket and later - g5

spent one-half of what was then left on a book. When she got home, she Y2 i y{,ug

had $14 left. What was the amount of Lawanda's paycheck? W Bgfvﬂ‘: 5,;0?7;5
+H S

. The spinner at the right is used to play a certain game. On your turn, you must spi
the spinner twice. How many different combinations of colors could you spin?
List all possible combinations.

BEaE B+ = 3C 1""‘Ir
Brianne is three times as old as Camila. Four years from now she will be just two
times as old as Camila. How old are Brianne and Camila now?
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@ H.O.T. Problems Higher Order Thinkina

T
16. ﬂ@ Model with Mathematics Write a real-world problem that can be solved by

working backward. Include the answer to your problem.

oLy ADDNG L/EN AWIOUNTS

A

17. EE.S;E’ Justify Conclusions Tyler has gﬁ?gaseball cards in his collection. Each week,
he buys a package with 8 cards to add to his collection. If Tyler continues in this way,
will he ever have exactly 504 cards in his collection? Explain your reasoning.

F“s - V‘
18. t'...sé/ Identify Repeated Eeasoning Find the value of 12,112, and 1112 Then use

your results to predict the value of 111,1112.

19. Building on the Essential Question Explain how to decide which strategy

to use when solving a problem.

f Standardized Test Practice

20. The sandwich choices at a local deli are shown in
the table below. If a customer orders a sandwich
with cheddar cheese and only one type of meat,
how many different sandwiches are available?

Meats ‘ Cheeses

ham ' cheddar

salami Swiss

turkey 4 colby
A1l j‘,ﬂ ()

L A
B 3 4 D6 "
ﬁﬂl"r 3 ﬂuﬂw‘ ﬂ"”
21. The Eroduct of three consecutive whole
numbers 1s 210. What is the sum of the three

whole numbers? ADD 70

F 70 H 15

G . 67
18 M 17 ié)

S4447°/8 3¢t
1)

iy

22, Arestaurant has rectangular tables that can be
placed together end-to-end. When 2 tables are

| placed together, 10 people can be seated. When
3 tables are placed together, 14 people can be
seated. How many people can be seated when

!I 7 tables are placed together?

' ee o0 ®o® o0 oo
| e ® ]
| e o0 e o9 o0
2 tables 3 tables
10 people 14 peaple
| A 35 C 30
\ B 34 D 28

i 23. Short Response Isabelle took half of the

[ cherries from a bow!. Then Roberto took half of

the remaining cherries. Finally, Malia took

3 cherries from the bowl. This left 5 cherries in
the bowl. How many cherries were in the bowl

|
g ﬂilol before Isabelle arrived?
5"{.& [ '

_ Common Core Review

Evaluate each expression. 5.0A.1
24, 3[2(5) — 6] 25, 12+6<3
27. 94+ 2(12—4) 28. 30—24+6

26. 24 - (2+4)+2
29. 19— (7—4) x3

Evaluate each expressionifx =6,y =4,andz=9. 7.N5.1, 7.N5.2

30. 2y — 5 31."?z 32. 32— 2x+y
4

gujdlid e 34, y+ 2+ 2 35, z(x + 4)

30 Need more practice? Download Extra Practice at connectED.mecgraw-hill.com.
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Rational Numbers and Exponents

Use a strategy to solve each problem. 0.6
ﬂ - 4 5. E3 7371 Aball bounces back 0.6 of its height on every bounce. If a ball is

50 dropped from 200 feet, how high does it bounce on the fifth bounce? Round to
the nearest tenth. (Eample 1)

0
;2..2- = /00 6. Rafael is burning a CD for Selma. The CD will hold 35 minutes of music. Which
s songs should he select from the list to record the maximum time on the CD withou
0

going over? (Example 2}

39_. < 00 | s ! B c D E
’ Time S5minds Imin10s dmini2s Imin9s 3 min 44 s
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a0 3353 Sm
a.b | Time Amin30s Sminds Tminils 4miniis Smin58s
@ 'ﬁ‘The cubes at the right are each numbered 1 through 6. During a game,

both are rolled and the faces landing up are added. How many ways can
a person playing the game roll a sum less than 87 (fxample3)

7
\

e

has $4 in change. How many of each coin does he have?

@ 14 wints LEFT
. A certain number is multiplied by 3, and then 5 is added to the result.

x:
The final answer is 41. What is the number? "’;5 BEF okl Boor BuY

-
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BIR | sum
' | -] 8. To catch a 7:30 a.m. bus, Don needs 30 minutes to shower and dress,
2 3 15 minutes for breakfast, and 10 minutes to walk to the bus stop. To X = Y
: 3 4 catch the bus, what is his latest possible wake-up time? (Example4)
X o
l .f > 9. Financial Literacy Mr.and Mrs. Delgado each own an equal number of shares 22 700 © ‘;X _‘
( f [ é of a stock. Mr. Delgado sells one-third of his shares for $2700. What was the total - X X‘I‘y- /61 0
l £ 173 &  value of Mr. and Mrs. Delgado’s stock before the sale? 3,1' 00 =
sir]: 2 groo </
2[4 3 10. The three counters shown in the table are used for a board game. If o, ‘ Side 1 ‘ Side2
- 2 the counters are tossed, how many ways can at least one counter with 1
- 3 3 l{ 1 Side A occur? Counter 1 ‘ A B
> 2N Cunter2 | A C
;g. -3 1 \ "I 11. Odell has the same number of quarters, dimes, and nickels. In all he [
/ Ty L Counter 3 | B C
2
3p 5
33 |6
34 (7

13. Lawanda put $15 of her paycheck into her savings account. Then she spent  + § ay MCM f‘
one-half of what was left on clothes. She paid $24 for a concert ticket and later £ ?‘i BErrE Caﬂcﬁg:rz

&

spent one-half of what was then left on a book. When she got home, she 2
A ?
had $14 left. What was the amount of Lawanda's paycheck? 37‘@ B ERRE (LofHES
.
Bl C. ,ﬂ"’ The spinner at the right is used to play a certain game. On your turn, you must spin—— 1
—_— 34( the spinner twice. How many different combinations of colors could you spin? ‘[,‘f
IZS 4;% p o®  Listall possible combinations.
g
E ,rwlﬂ-f QS. Brianne is three times as old as Camila. Four years from now she will be just two
lé J 8 - oLd times as old as Camila. How old are Brianne and Camila now?
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@ H.O.T. Problems Higher Order Thinkina

T
16. ﬂ@_}, Model with Mathematics Write a real-world problem that can be solved by
working backward. Include the answer to your problem.

A

17. u@sf Justify Conclusions Tyler has 23 baseball cards in his collection. Each week,
he buys a package with 8 cards to add to his collection. If Tyler continues in this way,
will he ever have exactly 504 cards in his collection? Explain your reasoning.

Pain
18. t@ Identify Repeated Reasoning Find the value of 1 2112, and 1112, Then use
your results to predict the value of 111,1112.

19. @ Building on the Essential Question Explain how to decide which strategy
to use when solving a problem.

f Standardized Test Practice

20. The sandwich choices at a local deli are shown in 22. A restaurant has rectangular tables that can be
the table below. If a customer orders a sandwich placed together end-to-end. When 2 tables are
with cheddar cheese and only one type of meat, | placed together, 10 people can be seated. When

3 tables are placed together, 14 people can be

how many different sandwiches are available?
B 1 seated. How many people can be seated when

Sandwich Choices :I 7 tables are placed together?
Meats ‘ Cheeses ' ee o0 e® o0 oo
ham cheddar I & ® ® L
salami Swiss |
ke sl _ eoe oo o® oo o0
7 2 tables 3 tables
A1l C 4 10 people 14 peaple
B3 Do |  A35 C 30
B 34 D 28

21. The Eroduct of three consecutive whole
numbers is 210. What is the sum of the three |

— 23. Short Response Isabelle took half of the

hole numbers? | P

BRERIREEL @ {“(5)(?) z J'fj-l cherries from a bowl. Then Roberto took half of
/;-J HI15 o e the remaining cherries. Finally, Malia took

( G 18 J7 { 3 cherries from the bowl. This left 5 cherries in

(—'—) the bowl. How many cherries were in the bowl
- before Isabelle arrived?
E/_ﬂ 6+7

Common Core Review

Evaluate each expression. 5.0A.1
24, 3[2(5) — 6] 25. 12+6+=+3 26, 24 -2+ 4)+ 2
27. 94+ 2(12—4) 28. 30—24+6 29. 19— (7—4)x3

Evaluate each expressionifx =6,y =4,andz=9. 7.N5.1, 7.N5.2

30. 2y — 5 31."?‘z 32. 32— 2x+y
4

gujdlid e 34, y+ 2+ 2 35, z(x + 4)

30 Need more practice? Download Extra Practice at connectED.mecgraw-hill.com.



